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There are 6 sweets in 2 of a bag.

How many sweets are there in a full bag?
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)] What are the coordinates of
point A?
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2) 0 cake is shared between Y children.
What fraction of the cake do they each get?
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What are the coordinates . D
of point A? Ay .

|
2) c—1><2+"|
2 3
3) 2§+|6
Y) 7501 = 3 White





image5.png
ﬂm ba@k U Juesk il
A is translated 2 squares up and 5 squares to I'I-'F»e mg% V

What are the new coordinates?
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3) Write the fractions in ascending order:
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4) Adjacent angles on a straight line sum to
Maths





